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Physics 102 Quiz #4 Section #:
Student’s Name /Jajuya)w 1d#:

Q1. Two moles of oxygen, assumed to be an ideal gas, expands at a constant
temperature of 120°C from an initial volume of 12 L to a final volume of 21 L.
How much heat is absorbed by the gas during the expansion?
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Q2. A certain gas occupies a volume of 4,5 L at a pressure of 1.2 atm and a
temperature of 300K. It is compressed adiabatically to a volume of 0.75 L. Find
the final temperature, assuming the gas is ideal for which y = 1.40,
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